Definition of the derivative

(drum roll, please...)

this sounds monumental, even transcendant, but it is
soooo simple (notice I didn't say "easy")

The "derivative" of a function
is the slope of the tangent to
the curve at any point (so the
derivative is a function itself)



pg 172 bottom left, error in table
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read Morris Kline on pg 171

pl73 defn 3.1.3 average rate of change
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pl74 defn 3.1.4 instantaneous rate of change
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example 1 &) Y= )(-\-] [3, 5]
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so, the slope of the tangent to the curve at x=-4 is -8



example 2 (end)
pl75

(10,5Y)




nahn u‘\'X\ ..
=0
(Wnonl)



defn 3.2.2pg 179 Lk K% =h
‘0‘) 'fH.J. deauedive "




pg 179 exs 2,34
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f(x)=x3-x

f'(x)=2x°-1
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as x gets close to O, the slope of f(x)
becomes large (+). ie, f(x) is getting close
to vertical

as x gets large w/o bound the slope of f(x)

gets close to zero so the curve is getting
close to horizontal
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Differentiability T
: geae®
corners,vertical fangents,
points of discontinuity
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if a function is differentiable at a point, then it
is continuous at that point (the reverse is not
necessarily true)
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Notation(p184):
£
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Notation(p184):
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Homework:
pg 175 1,10,11,21
pg 186 3b,7,9,15,23,27,31,39
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